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Evaporation from the surface of a
given liquid takes place more rapidly

when

e temperature is high and the
h surface area of the liquid is large.

(b) the temperature is low and the
surface area of the liquid is large

(c) the temperature is low and the
: surface area of the liquid is small

(d) the temperature is high and the
: surface area of the liquid is small

Kate ofF evaporation

factors:

— Tewpevratuve :

L— Huwidity:

2- With referénce to the Indian economy,
consider the following statements:

If the inflation is too ﬁh, Reserve

; Bank of India (RBI) is ly to buy

: government YECUTITIES,

2. If the rupee iS rapidly depreciating,

RBI is likely to sell dollars in the

market.

. If interest rates in the USA or
European Union were to fall, that is
likely to induce REI to buy dollars.

Which of'the statements given above
are correct?

and 2 only
2 and 3 only
c) 1 and 3 only

a)

B. 919 d9A @5 @ 3R g7 +1
T &G g6 8

C. 9« duA e @ iR g7 =1
ST Akl Y &Y

&b g g

State of liquid
chavges From qas

forms of Covdensation
 dew, wist , foq

D. 919 a9A o9 & 3R &9 T T

Templ Rate ofF evaporation],

d) 1,2and 3

Deflation <«———— gGoyt.

L) paisa dena

Secuvity

L Surface Area: TewpT Rate of evaporation |

| Wivd Speed : Wind speed 1 Rate of evaporationf

Huwidity 1 Rate of evaporationd,

Open MayKet Qpevation

sell

Rl —> Govt-

Securities

ecoviomy $€ paisa
Kichvia
InflaHon



3.

Which one of the following is not a
i solution?

A. Allo‘y/
i B. Milk

i C.air gy

WSugar

Substances

@ & @ sla-ar {ega ad 87

A. g
B. g
C. g

<

D. &

— Pure substances: Howogevious composition

— Mixture

ex: Sugav, H,0

4o viot shiow tyndall
effect

— Homogewnous: Pwysicalmetnods se

{

Solution

constituents ko alag alag
nahi Kiya |aa sakta hal  Spjuton

= particle size K lnm J

ex: alloy , lewmoviade, miK

—— Heterogenous: Pyysical metnods se

(

constituents ko alag alag
kiya |aa sakta hai

Suspension

show tyndall effect

— porticle Size y lnm
ex: Sail

I-—) exists betV Soluton & Suspension
Colioid : PavHole size, | —10nm
. Mixture Hhat scatters light Hhus
Sviows tyvdall effect



a4,

Refining of petroleum is carried out
i using which one of the following
i techniques?

(a) Evaporation e (a) arsdiHIOT
é%ractional distillation (b) WHTST 3THET
(c) Separating funnel (c) quFsRY Hra
| (@) Sublimation (d) FeEuTET

!

e

ink se dye Ko alag Kavne

Ke liye

compovients: Hgy O+ colors

To sepavate
MilK from cream: CewtriFugation

* IF+wo immiscible Wquid

ex: Oil avd wateyr

use of sepavoting
funnel

Density wore

Stop covrk

Prfafed # & P awelts &1 ST a0 |
RfeTH &1 ua R Smar §7 i

dye Ke colouys ko sepayate

Karve ke liye — Cwromatography

*Sublimaton :

Solid ——> gas
ex: Cawmphor, NH4CI

. If 4wo miscible liguid
ex: Vivegay and watey

— Boiling point : { 25K = Distillaton
ex: Acetone avdwatey

— Boiling point: > 25K — Fractional
Distill ation

ex: Aiv from i+s compo-
vent

Homogewvious
wixture



5.

| Which ome of the following is a
i chemical change? g

/ . Dissolving sugar in wate/

i B. Melting of ice=——

C. Crystallization
. Milk turning sour

v

N

Examples of Physical and Chemica!

Physical Change:

L

are veversivle ; Yeal

v :
Physical chavige :  reversivle

gma##m-mmﬁwmé

D. QY & @EeT g S&r

A T e > unchanged
A. T H O FT A ST | W|D|60Ule/
B. % &1 eear
C. fwEeas

- Burvivg of cavdle

both physical g chewical
change at the sameé

Hon — Form changes

ex: milk

* crushingacan

* melting anice cube

* boiling water

« mixing sand and water

« breaking a glass

# dissolving sugar and water
« shreddingpaper

= chopping wood

* mixing red and greenmarbles

# sublimating dry ice

6.

Which one of the following statements

A. The number of protons in argon. is
22,
B. The number of neutrons in argon is

: 8.

M‘he number of electrons in argon is

! 18.

D. The sum of numbers of protons. and
electrons in argon is 40.

The mass number of argon is

* gombustion (burning) of wood

* metabolismyof food in the body
= mixing an acid and a base, such

as hydrochloric acid (HCI) and
sodium hydroxide (NaOH)

= cooking an egg (burning any
food).

# digesting sugar with the amylase

in saliva

* mixing baking soda and vinegar

to produce carbon dioxide gas
* baking a cake
* electroplating a metal
# using a chemical battery

it FeA HE 40 ¥ PR |
# ¥ Fla-u1 FU7T wE i

A. 30T # wieral fr dear 22 §1
B. 3 & =qgit # wear 18 ¥
C. T & gowgial #r @Ear 18 ¥
D. 3 & wieral A gowEl A

=

wEaT3t FT AT 40 B

* Rutheford : proton + viucieus oll'scovevqé

+Hwe

candle
Hireod:
Chewmical
Change

wax wmethng:
physical
change

@MGSSMD
Q/v at-vo.

Z=¢ =p*

M= p+'l'Vl

M=Z+n

M=-Z =n

4o

““Av " Ca
20

18

(‘YI =408
=22



glectron discovery: J-J. Thowson
neutron discovery: Jawmes Chadwick

Tsotopes uses

. Nuclear veactors: UZ°
« Goitre: T'®

- Cancer: Co€°

* Radioactive: (C4°

7.

Which one of the following is the | Ne, Si, N 3K Mg dval $ §ASHar &l
correct order of the valencies of

6 A T # ¥ Sla-ar 82
elements. Ne, 8i, N and MgT |
\(we/< Mg <N< Si (a) Ne < Mg <N< Si
N s
)ﬂ)Si<N<Mg<Ne (a) Si < N< Mg < Ne NG(M@ < 46'
02 3 <4
(b) Ne <N< Si < Mg (b) Ne <N< Si < Mg
)4) Mg < Ne <N< Si (c) Mg < Ne <N< Si

Mukiple Valencies: Cu, Sn,
'Fe / Hal 6

v

No- oF e~ gaivied/ lost +o
gain Stability

ave monoatromic

Inert gases Nitrogen — %
Ne: lnert gas, 1gtn He - Helium 2)5
valency U Ne - Neon 1 )
Silica = 14 at-vo - Ar - Avgan requives 3
7"*‘19 dovot Kv = Kyypton  Mg- Alkalive
* gletton confiquration: ;::ff ‘gxf Kn - Radon Earth metul—
According o Born's Filled Valency : 2-
Model

Atomigity — Oz>2
Oz—>»3



8. Consider the following statements :

1) Pursuant to the report of H.N. Sanyal
Cm1 Courts Act,
71 was passed. [

The Constitution of India empowers the

Supreme Court and the High Courts to
punish for contempt 0

WheCons ution o Tjaciin

ntempt and Criminal Confempt.

4)7In India, the Parliament is vested with

the powers to make laws on Contefupt of
Court.

Which of the statements given apove
is/are correct?

1) nd 2 only

,2and 4
3) 3 and 4 only
4) 3 only

% BT TSR GaT o
3) ARG & #AUS APRG HaA-T HT

AT Fy4 W AR &1

1) va.eeA. g @At f1 RaE § aemr,
Y JAEaT e, 1971 aia
T T am

2) ¥R F Fua gafew =ameT T 359
el ®t A9 w9 & fav g

> Rules:

TS HGATAAT T TR FIT §l
4) HRA A, §EG B~ B HTAHAT W
T & $T ARFaAr g g
IR BT 7T Fy= # F F @ 7@ V2
1) 9o 1 3k 2
2) 1,2 3T 4

3) ¥aa 3 3K 4
4) Faa 3

@3 and 23\ - deals

N\
*defines — Kabhi bhi defined

hahi hoqa

- AFfivmative sentevces
ave gevevally covvect

Goveyvoy

wiH ordinance

President

- 1 ConstituHon ——> OFFice of Profit+ not defived

The magnetic field produced by a
current-carrying straight wire at a
p?t. outside the wire depends

) inversely on the distance from.it.
2) directly on the distance from xtj-
3) inversely at short distances and
directly Y§}large distances from it
4) directlz the distance (at short

distancﬁnd inversely on the

distancg/(at long distances) from it.

v

2]5“@3;317‘!‘@313

3) sEd W SGHA SﬁTmm

TmdEIT

similarly & contvasting
options

Flemivg

__—7 Loft howd yule — force

\4 Right hand rule — curvent

C

cuvwvent cawying
covductor
— duri vadeg — magneHe
Field strenginy,



10.
i A ball is thrown vertically upward
with a speed of 40 m/s. The time
taken by the ball to reach the
maximum eight would be

approximately
(a) 2s u= 4yow|s

I F 40 m/s F TIT ¥ FeaR

(b) 3s

v=0

Law of Motion equations

v=utat
VY= u*+2as

5 = ut +_Lat?*
3

Mg v ch

11.

Which one /of the following plant
plastids stofes starch, oil and protein
granules? e =

A. Chloroplast —» FOOd
weucoplast —> stora ﬂe
C. Chromoplast '—) OOlO u r

D. Xanthoplast

accelavation due 4o qravity

V=u gt
V¥ = u?t 2gh

e ut +_1 g+*
2

/

lovophytl

mm#am-mmm(wi
wifes) #z (Fer), dw IR WA
FOHIAH T FART FIAT 87 :

A. gRaeas (FaRTaRT)
B. 3quff aa® (sgwIvenee)
C. gufea® (FATARFT)

D. fiaeas (swuivaree)

plant cell
plastids
-r
Mitocho
-vdria own DNA avd
ribosome

V=u-gt

vi= u"—?«gw

h=wu+_L @'l'"’
2

Aqainst grovity

PLASTIDS

(a) Chloroplast

© Inner membrane

© Intermembrane space

© Outer membrane

© Stroma | @ Thylakoid | @ Lamella
——
Proplastid Leucoplast Etioplast
- e
) : &
@) O
Amyloplast Chromoplast Elaioplast
(@O
© @9
Qo

Proteinoplast Chioroplast



12.consider the following statements: fAfaf@d a1 v @FER &1

he rating agency popularly known as ST &l . "
ICRA 1is a public limited company. 2. ICRA & ad }T'HQIE{' e woiet v
/ 3. Brickwork Ratings is an Indian credit 3 ml; g mﬁ o u:q-'-ﬂ %fl -
rating agency. Y %I
:7:;: ct;t; l::::::?st:atements given above S U T Fuat & F S R @@ 2
a) Faa 1 3K 2
a) 1 and 2 only b) Faa 2 3T 3
2 and 3 only c) Faa 1 3k 3
c) 1 and 3 only d) 1, 2 3k 3.
d) 1, 2 and 3.
\ b .
SERI — creditvating Appreviensive statéewgnt
agevicies

Cvaivwian : Madnapi Puri Buch

13.
i In aquatic plants, large air sacs give |5efir urgdi # @3t ag’ ot (TR d)
them. buoyancy effects. effects. These |3Iq@. Icooliger WHIT woier 3l 8 o |
sacs are surrounded by which one of )| 4o Refae & & &g wor F
the following types of tissues? Fae! Bh w27 .
k' Tiscues
\Arenchyma a) W (Rewprgem)
b) Collenchyma b) SRSIH (Hieiwhrgam)
c) Sclerenchyma c) TRIaF (FFATHIA) :
d) Complex titiie d) wf 57w Meristematic Peymavnent
[+ continuous « where cel|
cell division divieion has
; Stopped
+—Apical ,
& Shoot growth,  differentiation Stavis pev-
‘an .
— lntercalary weiqiy Forming
v nodes peymavient
0
funct

L— Lateral — increases givih (width)
of stewm



Pevmanen+t o
- Trackeids -« Xylew Pavenchywma

‘ Vessels ., xylewm fibres
—Simple Complex
N Pavenchyma \/ I
rsovaqe of  WHIEM ) elmEEm +ransfer of Food L
(%
— Collenchyma . | Types:
o provides flexivilHy tronsfer of B e cild
Sclevenichywa water gr wmuverals Sei
— - Seive tubes

« provides rigidity or turgidity

. COW\pavnl'ovn cells

ex: Husks of coconut

v
oviothey part:

(ﬁ buoyancy
Aevenciyma: provides aivy spaces to Float in wateyr

Chilorenchywa: food producing through chilorophyll

14.

Which one of the following groups is
called 'amphibians of plant kingdom'?

Aefe@a & @ e o & Cgaefa
ST &1 Sroedday (Wewiaws) Fgr Srar

(7]
\y/Bryophytes al )

b) Thallophytes

b) dewIsE
c) Pteridophytes c) eRewEe
d) Gymnosperms d) 3regadrsl (rea)

In plants

ex: pius :
- * Male reproductive part: Stamen
* Fewmale veproductve part: Pistil

- Anther avd polien grains: Male
larts

» Shgwma, Style and ovary : Fewmale
parts



Plants

Do not have Have differentiated
dilferentiated plant body
plant body

Thallophyta l 1

Without specialised With vascular
g vascular tissue tissue

© Bryophyta

Xylem, ¢ — =

for — All'SSC EXAMS

ovules —> seeds
ovary ——> Fruit

Phloem

}

Produce seeds - Phanerogams

Pteridophyta

Bear naked seeds

Awphibians

1
.Bd—n-ln-u-h—-

inside fruits

Angiosperms

OF P‘am"’ (})'Illllr)ls|)(-|’llls
Kingdowm
LL l ceds
with two
cotyledons

also Known
4s Cryptogams s

Classifieation of plants
Hidlotgw reproduc-
Hye orgavs

Have seeds
with one
cotyledon

|

Monocots

Sleeping Sickvess :
cavvier: Toe Tse Fly
because of : Trypaviesoma

Kala Azar:
cavvier : Sand fly

because of : Leishmania

15.
| Which one of the following iS.caused by |FFfaf@d & ¥ Fla-wr Jr & Sharrsr
| a bactetial pathogen? oy (AR duie) F FROT T 87
i —
: a) Am(s)lé—-‘ a) TEH
b) Dengue fevepA e S E .
c) COVID-19 c) #Ifds-19
: Typhoid fever d) TEEES N/
Salwovella

. v
Typhil +Hivough vivus — Hiv (4 Dec)
cgexun| intevrcourse
« blood +ransfusion
.« can tvansfer from Moter
+o bavby

jé\'wmfier : Aedes aeqypti

Malaria
cavvier : Fewale Aviopheles

because of : Protozoa
Plasmodium



extrewme

16' Consider the followin atements: @ Fy«9 97 R &35

‘Al. Other than those made by humans, 1. #FI5aY E@RT qATC AT Ao F T, |
% nanoparticles do not ezdist in nature. ﬁ;’ﬁ;;vr giﬁf F-3 mﬁ@' gt §1| :
Nanoparticles of somDmetgllic oxides |2, Fw urq 3HFEEs F AdlF0N HT 3TAT
are used in the manufacturk of some Fo Wi yarat & fAfr F B D'QP@(ﬁ‘ own -

cosmetics.
eYcominercial 3. ﬂmm*maﬁ wMH’e “awni- _—P_féed .’ CO‘MS

! 3. Nanoparticles o
products which enter the epvironment w‘mw ARTFTTE ST m & ﬁ.n;r

| _< il (vainvow)

i Which of the statements| giyen above FT T v Fy=t & @ S TR @ %/‘??

i is/are correct?

are unsafe for humans.

(a) &aer 1

::; °::;' ::; jﬁ;—rh 32 voilet
A 2 andé) (d) 2 3 3 ved wavelengin
| J | wavelengn €55
genevalistic VvV Wove
' i ,
: e twinkling of a star is due to the e #Ror & AR RARA §2 . .
atmosghERE = 2 B . Stave shivie: due +o vefvaction
a F TGHSA Radar '
a) diffraction of starlight c ?fgﬁwu::)n" iy .
i b) reflection of starlight b) AR & WHIA HT amg;hw e P05H10V| o“a V‘ﬂ_e: a|wa '45
i (Reeirarer) ; "
H %fraction of starlight e——— VeFVﬁ C‘i'l on
: i3 _ S c)?ﬂa;w«;vma:rmgﬁﬁfmm g
ispersion of starlig Gz 0 : . . -
. Stavs shivies as v difFerent
d) AR & YT HT AGHSAT gRETIor :
(Rewsiar)  layers of atwmosphere diffe-
L rent d&V‘SH’IGS

due !
N ue Yo vefraction Always i Oppo-
Sun is 2 mins before Suvirise /, Aivection 4o Sun

avol 2 mins after suncet

Raibow : 2 vefyachons +

TIR
Blue colourof sky : Scattering of light,

Suw veddish during Sunset/sunset : »} TIR:
* Diamovid shivies

white .
above Novizon « Mirage

+ Optical Fibre

6 colours scattey _
and ove vemaining — red (nighest wavelength)



‘Which one of the following does not | fRd@ & ¥ =meg A FfAwRar
fall under the jurisdiction of the apex | (RERFI) F 3fa fafaf@a & @&

court of India? FIT AET ATAT 87

a) Original Jurisdictio: a) IR@® AFRar
—b) Appellate Jurisdiction b) 3rdielt arf=REr
: %ol;egiate Jutisdictionx c) Flafawe FRFRAr

d) Advisory Jurisdiction

Art 143: Président +takes advice
fyom SC

A : - advVice viot bindin
‘Jf Art131: Disputes betnCentve L 4

Appeal = Art 133, and State | move than ovie

+hrough 132,134 states — by Suprewme Conrt
high cowt

1S exclusive

> apprehensive , affivmatve
s Sentences

19

i"* According to the Indian Meteorokpgical| §dim  #Alaw fow  Rwmr

Department, which of the following |s/are [ Mm=faf@s & @ ) # * -

the feature/features of €loudburst? faRyar/ e ‘gclﬂ i d eF' V\ﬂ'h ov a|wa‘js
1. Heavy precipitation in shoxt period. '

of time in a limited geographical COV Y60‘|'

area '
2. If occurs gen duri; o] 2. ag wHEEA: AW yE & gke

period and triggers flash flood and giar § IR IF WA T v - |

landslides FEaa F NG FI@T § =

Select the correct answer using the code
given below.

A RE 71T F© F G@T F T IR g |

(a) 1 only (a) Faer 1
(b) Zronly (b) Faw 2 ;
oth 1 and 2 (c) 1 3 2 g=t

(d) Neither 1 nor 2 (@aar1axad2




20 With reference to the Indian egse
what/ are the advantages g
Indexed Bonds (IIBs)"?

1. Governmen @
H rates on its béTfowing by way of
i 2. IIBS provide protection to the

educe the coupon

ydegaear & wad
% miﬁ(:&ﬂ'&?ﬂéﬂ) ¥ FUaT B 87

FIT G FH FT FHe!
2. FrEamEdea P A AEeRty &

investors frogruncertainty regarding __| ¥
inﬂation.‘ 7 il

¥ The inferest received as well as

capital gains on IIBs are{not)taxable.

Which of the statements giveh above are

FT AT G §

X U T Fyal & F FiT @1 w9 82

i corregt?
: 1 and 2 only (a) Faer 1 3K 2
i (b) 2and3only (b) Faa 2 3R 3
i (c) 1and3 only (c) Haea 133
(d) 1,2and 3 @ 1,233
\Z
govt. does

vot leave tax
ov anything

— Geold shape

21. In a group discussion pn shape and size of
the Earth, three stjudents stated the

ollowing points:
Student 1 : The shape ql’ the Earth. is

basically an oblate spheroid.

2. Student 2 : The polar diameter of the Earth
is more than the equatorial diameter.

3. Student 3 ; Bulge along the equatorial
region. is due t the Earth

Who among the above students is/are
corrgpt?

Student 1 only
(b) Student 1 and Student 2 only
(c) Student 2 and Student 8 only
(d) Student 1, Student 2 and Student 3

gelt 1 g (W) AR IET (@) | o
ael tH dEfes SunA dw RgiiE w@
il ReR sasw e

1. fegrd 1 Y Hr i wEaET
(wmrnam‘ﬁtl ol

2. facqmdf 2 & gdy =y, Rygda
| & mﬁ*«w

3. 3 : RyEeh &% & Rggam 39K,
Eﬂqﬁww#mh

Tow R & st w7 W2
(a) Faer 1

geveralistic Keyword \/

ﬁmlﬁﬁ!.

e Can, Could ), wmay-,
might

1 mmma:aﬁvmmqr

AFFiymative

3. aﬁa@ﬁwmmaﬁrﬁmmm

NH -right

SH-leF+ -

direcHon

O —equa- &<— Coviolis
for fovce
wax. — poles

due to votation

res Pomsa’ble for

ocean cuvvents,
cyolones, winds

bulged ivn the
centey

radius——

(63781 km)

North-south
axis

equatonial

- diawmeter

e wiove distance
Hhan polay

,,,,,,,,,,,

polayr diameteyr



e
Which one of the following statements. |3Ra® 3Ryl yomel (elwa WfSuRT
with respect to Global Positigping |Red e dte wwe) & waw #
/System (GPSorrect? R & ¥ FF-a1 Fuq adr a8 72
/ A. It is based on network of satellites ’
orbiting above the Earth. A. Tg 1 afFaT & W@ 3T F
T menie #

B. It is based on the system of
triangulation. B. 95 Behas gqufa w ameRa &

C. GPS receivers provide location in C. Sfte e THe W 3raTrer, e 3R
terms of latitude, longitude and Ivaal & He H T (SSue) adrd
altitude. gl

\% provides information @ D. Ig Faw d=a A (e & o
for military operations. HIAT WG FAr ¢
extvewme keyword
GpPs ins
W itiple
Keywovds

Which one of the following is not a

Constitutional _Commission, of gifaenfas Jranr a8 §2
India?
a) The National Commission for a) T 31'-_!3@?!’ Sfa AT
H cheduled Castes = 253
/ b) T IR Saeta AT
¢ b) The National Commission for
Scheduled Tribes. =338 A c) T RasT aoF smanr
' c) The National Commission for d) I Afgerm T
Backward Classes — 338 B
The National Commission for
Women
statutory ——> gat CA bifurcated
+ National comwission
¥ forsc

AlSopreserves yiguts

for Anglo \ndians » National commission

for T

« NoHonal Comw. oy BacKwavd classes — 102 CA



deFine

24' With reference to India, consider fthe HRa F o # fAmafef@a syt w
following statements : AR
1. Monazite is a source of frare earths 1. AWTEEE FHaT FT Th T gl
2. Monazite contains thorium. 2. AlATTEe # NRIA gar !
a@wonazite occurs naturally in the &ntire) 3. AATSTgE R H U HReE a8
Indian coastal sands in India. WH ‘TIT%?? & 9T SATGT #
r 4. In India, Government bodies only can 4. XA #H, THRY Faer
process or export monazite. - m FT TEEHOT T AT T
wHd B
Whicht;f the statementq given above are FR BT 10 Fyat & F i a1 78 82
(a) ,1, 2 and 3 only (a) &aer 1, 2 3R 3
WI, 2 and 4 only (b) Faa 1, 2 3R 4
c) 3 and 4 only (c) ¥aa 3 3K 4
(d) 1,2,3and 4 @ 1,2 33k 4
J’ex'l'reme
keywovd
v
private
cowot
export
CoasHivie:
6100 kv
Red Swivt Kurti movewentt
2. . S« | o .
s . Civil Disobedience
The Khudai Khidmatgar (Sefvants of |Has REATIN (T & ATF) FT 7o Mavch
the God) was organized by fwer R am? al
W Stovted
A. Mahatma Gandhi A. HETcAT et ¥ with
. Khan Abdul Ghaffar Khan. B. Gld 3eqel TFPR Wlel peopl@
C. M. A. Jinnah C. THe To e SﬂI-I'M'aVOV‘/
D. M. M: Malaviya D. THo THo HATIAIT Davdi March
-7 Hindu Mahasabha , 1915 5 .
Sabaymats 12 March
also kvown as _ +6 Dondi (BUdaus)
“Fronher did vot want
gondni’ NwFP v /) Indio Pavthon
- ' " first vion-ivdia o - Second vion- India +o
- CbM m Nov be awavded Bhavat be awavded Bhavat

province Katwna Katna — Nelson Mandela



wife: Savitribal Phule
(First lady +eachey
oF \ndia)

ath, Wﬂu?msr(waﬁmmm
FHATS) AT FUGAT fFEa i 42

26.

The Satyashodhak Samaj
Seeking Society) was set up¥#

_.——A. Vinoba Bhave/~ . — | A. 1aarar s > Wrote: i
B. ST g + Gulamgiri
C. B. R. Ambedkar C. dle 3o IFITHT N ik
D. C. Rajagopalachari D. o TSNATATARY ¢ Qarva|ﬁm
Sat+yadnarm
J ot Pockowmpalli
1273 Bhudan Andolan, 1951 Telangana

v

15t Individuwa) —> +o Oppose ISt cA - Abolition of Zamindayi
Satyoqrah  Ayguct offer, 1au0 avd Land vefovwe (added ath
|
2nd Nehru schedule)
by Viceroy
Linlitgrow

Havijan — Gandni, 1432

B R Ambed Kar
. Leaded Mawnad Satyagron , 1927
« All ndia depressed classes , 1420
+ Chaivman of DrafHng Commitee
- Modern mawn of India

called DpPsP — Cowviscious of Congtitution
.« Called ‘Ar+ 32 - Heart avd Soul of

vidian Covgti+uton




> TRICK: 0dd ovie out
27. ;
Which one of the following 'National |pmfafag & ¥ = @ Tsaw W

Parks lies completely in the temperate ‘{“i'a? FafarsT IeaTEa P m’"
alpine Zone? 4 = ¥ :
o \ i

f Manas National Park A. ATE TET 3T
B. Namdapha National Park=——=""] . ATHETHT TSI 3Tl

/ : . Npora Valley National Park : i T sEE=

\%falley of flowgrs National Park . P 1 Gt T ECLIn)

\L \l/ cold condiHons
Assam \ 4 Avuvachal
Neéova
Valley

\

v
Firs+ uttavakvand
thyee in NE
> TRICK : Look for similAY opHiovns

Which one of the following has/been TaiEoT WYETUT HOfwH, 1986 ¥ ded

constituted under the Environment TRET A A FusT e T Tar %?
Protection act, 19867

A. Central Water Commission A HET F @

B. Central Ground Water Board 7 B. AT el as
w Central Ground Water Authority C. FET el FridHor

D. National Water Development D. I Sl A waidt
Agency

v ,
Similav options
wain ans renta

nai



29.

! What is the position of the Right to
Property in India’
——

/A Legal right available to citizens
\ﬂegal right available to any person

. Fundamental Right available to

citizen
D.Fundamental Right
1

egal right

v
15,16,19,249,30

30.

Which one of the following statements
best describes the role of B gells and T

cells in the human hody?
0 They protect the body from
: environmental allergens.
7@ Tﬂey alleviate the body’s pain and
inflammation.
; . They act as immune suppressants
1 in the body.
D' hey protect the body from the
diseases caused by pathogens¢
v .
similay

options

T # wufr ¥ IR A Far Ry 87

A. FTl! FAFR Faor aERH F v
YT §

B. fet ot =afaa 1 3veeyr FegE
FFR

c. AifeF #VFR Faa anRE & e

9ot §
D. 7 AifeF FIWFR, 7 FEE FWFR

Brrfafla # @ Fi & FueT A O A |
& PR A, PR B AR
WA BT quie HIAT 8 i

A. 3 R FT wAiERUi ool § FE=w
B.;lmtaiaﬂtqawaﬂmm
c.zt‘tlamr.#sn{:nm?c#?m#m
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